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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

THE—1
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. What do you understand by Financial Statement
Analysis ? Discuss the importance of such statement.

(i) Material Usage Variance
(if) Material Price Variance
(iii) Material Cost Variance
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Total Sales 3,00,000 ey o , 19,000 | 11,500
Cash Sales' | 50,000 Y 4,500 | 3,000
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T2 o |ReRe Mm@ emER ) | 2997 | 31781
(UNIT—2) ' e
2. mmﬁwﬁmwm%?mmﬁ : 2014-15 & % 5,000 @7 @MUY feAT M| GereR d
% | frraed W g 2014-15 ¥ T 1,200 o7 | §¥ wfy @
What do you understand by Cash Flow Statement ? | ' ‘7
Explain its importance. . e : ff‘sﬁ"%’é’mmml
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Prepare a fund flow statement from the following data of
ABC Ltd. :

e March 31!
2015 | 2014
(9] )

Cash 8344 | 4,652
Trade Receivables 12,650 | 18,170
Allowances for Bad debts 1,750 | 1,860
Merchandise 23,875 | 24,640
Furniture and Fixtures 17,500 | 12,000
Truck 19,000 | 11,500
Accumulated Depreciation on :
Trucks 4,500 | 3,000
Trade Payables 22,122 | 19,280
Capital 50,000 | 50,000
Retained Earnings (+) Profit :

(-) Loss i +2,997 | —53,178

A dividend of 2 5,000 was paid in 2014-15. Depreciation
on Furniture and Fixtures amounted to ¥ 1,200 in 2014-
15. It was credited to Assets A/c.
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What do you understand by Marginal Costing ? State its
usefulness as a tool for corporate decisions.
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From the following informations calculate P/V Ratio,

! B. E. P., Margin of Safety and percentage of Margin of

Safety :
Year I Year I1
‘ ® ®
| Sales 3,00,000 | 3,60,000
Fixed Costs s 90,000 | 1,20,000
Variable Costs 1,50,000 | 2,16,000
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What do you understand by Budgeting ? What is the
purpose of budgeting ? What are the essentials of an
effective budgeting system ?
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The expenses budget for production of 10000 units in a

factory are furnished below :
: Per Unit
®
.Material 70
Labour : 25
Variable Overheads 20
(A-41)
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Fixed Overheads (¥ 1,00,000) : 10
Variable Expenses 5
Selling Expenses (10% Fixed) 13
Distribution Expenses (20% Fixed) 7
Administrative Expenses (¥ 50,000) 5
Total Cost 155

Prepare a budget for the production of (i) 8000 units and
(ii) 6000 units.

Assume that administrative expenses are rigid for all
levels of production.
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What do you understand by Standard Costs ? How are
they useful to management in fulfilling its objectives ?
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